Spiel: ASKC Passeier | - KK Neumarkt |

Spieler: Vilmos Zavarko
Bahn 4 Bahn 3 o SR,
Wurf Holz Wurfblid Ereignis Fehler Gesamt Wurl Holz Wurfbild Erelgn
1 7 afte [} 7 LD
2 8 vafes i 15 )
3 7 =rfre 0 22 [
4 g stfte 0 31 8
5 8 wzfze [i] 40 9
6 [ szfts 0 8
7 8 “aie 1] (-]
8 5 ~2j1- o 5
8 -] =tfe- (o] a
10 53 =tfie (1} ]
11 8 *aise (1] 8
12 8 =2iie 0 -]
13 7 a2fte 0 g
14 8 rafze 0 8
15 ] =sis- [t} 8
18 7 *1fe. [v] 5
17 Z wifn A 1] 1
18 ] =2 A 0 2
19 E e 0 g
20 2 ifi= 0 9
21 2 eifts A (1]
22 |5 i 0
23 3 =i 0
24 1 i A o
25 9 3 A (1]
26 g wEie A 0
27 SN 0
28 4 *Hjts A 0
28 8 silie ]
30 1 i A 0
Volle: 115 Abr: 72
4] Gasamt: 187

Fehler:



